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Section A (6 x 1 mark)

Choose the cormrect answer.
Write its number in the brackets provided.
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1. Which of the following is the same as 3 groups of 10?
(1} 3+3+3
(2) 3+3+3+3+3+3+3+3+3+3
(3) 10+10+10

(4) 10+10+10+10+10+10+ 10+ 10+ 10+ 10 (



(1) 36
(2) 18
(3) 3

(4) 12

4x 5=

(1) 10
(2) 15
(3) 20

(4) 25

- 24 —- 4 is the same as
(1) -5
(2) 2
(3) 6

(4) 9




A toy aeroplane costs $2.
Jack has $16.

How many toy aeroplanes can he buy? '

(1) 18
(2) 14

(3) 9 |

(4) 8 ( )

A triangle is made up of 3 matchsticks.
How many matchsticks are needed to make 8 triangles?
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(3) 24

(4) 27 ( 1



Section B (5 x 1 mark)

Read the questions carefully.
Write the correct'answers in the boxes provided.

/. Circle 35 stars into 5 equal groups.

W W W W

% % %
% % % X
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% % % %

% % % %
B

8. Colour the box that gives the answer 4.




Look at the picture below to answer Q9 and Q10.

Write a multiplication equation and a dIVISion equqhon about
the curry puffs.

10.

x =25
©+ O

The missing number in the blank is




Section C (2 x 2 marks)

Read the questions carefully.
Write your answers in the spaces provided.

12. A car has 4 wheels.
There are é cars in the car park.
How many wheels are there altogether?

O L]+

There are wheels altogether.

13. 3 girls shared 15 strawberries equally.
How many strawbenies did each of them eat?

O

Each of them ate strawberries.
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EXAM PAPER 2016

LEVEL : PRIMARY 2

SCHOOL : TAONAN SCHOOL

SUBJECT : MATHS

TERM HOLISTIC ASSESSMENT TEST (1) AND (2)
TEST (1)

Q1.109

Q2. Six hundred and forty

Q3. 200

Q4. tens

Q5. 4 hundreds, 0 tens 5 ones  Q6.709 Q7.243,298,329,926
Q8. 852 Q9.724 Q10.374
TEST (2)
Q1 Q2 Q3 Q4 Q5 Q6
3 3 2 2 4 3
Q7. 08.2X2 Q9.6X5=30 Q10.30 - 6=5
| x % & % * *
* K X K K K X
Hf K T K W R
* K K K K o X
Rl - * K
Q11.10

Q12.6 X 4 =24

Q13.15+3=5

Answer: The missing number in the blank is 10.

Answer: There are 24 wheels altogether.

Answer: Each of them ate 5 strawberries.
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